

Los Angeles County Public Works Project Management Division III BID SUMMARY (sorted by Unit Price Total)

Project Name: South Whittier Sunshine Acres - Leland Avenue, et al.

Project ID: RMD4408002

Bids Opened: 4/5/2022

Office Engineer: Claudia Sifuentes 626-458-3144

Addenda: 0 Duration: 130 Day(s)

				Engineer's Estimate		(1) R. J. Noble Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) Excel Paving Company	
(1) Preliminary Bid Amount					\$	6,682,268.86	Ş	\$6,867,000.00	\$	6,879,541.96	\$	6,897,561.09	
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
1	CONSTRUCTION SCHEDULE (BASELINE) (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
2	CONSTRUCTION SCHEDULE (UPDATE) (STIPULATED UNIT PRICE OF \$500/MONTH)	6	\$500.00	MTH	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
3	CONSTRUCTION SCHEDULE (AS-BUILT) (STIPULATED UNIT PRICE OF \$1,000)	1	\$1,000.00	LS	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00	\$1,000.00
4	IMPLEMENTATION OF THE LTWHP	1	\$10,000.00	LS	\$10,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00
5	PREPARATION OF THE SWPPP (STIPULATED UNIT PRICE OF \$2,500)	1	\$2,500.00	LS	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
6	IMPLEMENTATION OF THE SWPPP	1	\$40,000.00	LS	\$40,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$70,600.00	\$70,600.00	\$35,500.00	\$35,500.00
7	OFFICE FACILITIES	7	\$3,000.00	MTH	\$21,000.00	\$5,000.00	\$35,000.00	\$11,000.00	\$77,000.00	\$3,000.00	\$21,000.00	\$5,000.00	\$35,000.00
8	MOBILIZATION	1	\$293,901.06	LS	\$293,901.06	\$600,000.00	\$600,000.00	\$639,043.82	\$639,043.82	\$635,000.00	\$635,000.00	\$690,000.00	\$690,000.00
9	CLEARING AND GRUBBING	1	\$2,000.00	LS	\$2,000.00	\$150,000.00	\$150,000.00	\$200,000.00	\$200,000.00	\$25,000.00	\$25,000.00	\$15,000.00	\$15,000.00
10	ROOT PRUNE TREE (INCL ROOT CONTROL BARRIER)	14	\$1,300.00	EA	\$18,200.00	\$1,000.00	\$14,000.00	\$1,000.00	\$14,000.00	\$1,035.00	\$14,490.00	\$1,070.00	\$14,980.00
11	TREE REMOVAL (6"-12" DIAMETER)	1	\$1,500.00	EA	\$1,500.00	\$1,300.00	\$1,300.00	\$1,500.00	\$1,500.00	\$1,250.00	\$1,250.00	\$1,350.00	\$1,350.00
12	CONCRETÉ REMOVAL (NON- REINFORCED)	919	\$175.00	CY	\$160,825.00	\$195.00	\$179,205.00	\$250.00	\$229,750.00	\$280.00	\$257,320.00	\$243.00	\$223,317.00
13	UNCLASSIFIED EXCAVATION	2587	\$80.00	CY	\$206,960.00	\$195.00	\$504,465.00	\$125.00	\$323,375.00	\$85.00	\$219,895.00	\$185.00	\$478,595.00

Project Name: South Whittier Sunshine Acres - Leland Avenue, et al.

Project ID: RMD4408002

Bids Opened: 4/5/2022 Office Engineer: Claudia Sifuentes 626-458-3144

Addenda: 0 Duration: 130 Day(s)

		Engineer's Estimate		(1) R. J. Noble Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) Excel Paving Company			
(1) Preliminary Bid Amount			\$6,6			\$6,682,268.86	;	\$6,867,000.00	\$6,879,541.96		\$6,897,561.09		
(2) Un	it Price Detail												
<u>Ìtem</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>	Unit Price	<u>Amount</u>
14	UNCLASSIFIED EXCAVATION (ROADWAY)	5774	\$80.00	CY	\$461,920.00	\$48.00	\$277,152.00	\$45.72	\$263,987.28	\$59.00	\$340,666.00	\$53.00	\$306,022.00
15	CRUSHED MISCELLANEOUS BASE	2077	\$70.00	CY	\$145,390.00	\$84.00	\$174,468.00	\$100.00	\$207,700.00	\$97.00	\$201,469.00	\$232.00	\$481,864.00
16	CEMENT STABILIZED PULVERIZED BASE, 8" THICK	65327	\$6.00	SY	\$391,962.00	\$9.50	\$620,606.50	\$7.50	\$489,952.50	\$7.90	\$516,083.30	\$5.25	\$342,966.75
17	PORTLAND CEMENT FOR CSPB	1538	\$180.00	TON	\$276,840.00	\$210.00	\$322,980.00	\$205.00	\$315,290.00	\$217.00	\$333,746.00	\$221.00	\$339,898.00
18	COLD MILL AC PAVEMENT (0 - 1-1/2")	438548	\$0.40	SF	\$175,419.20	\$0.23	\$100,866.04	\$0.30	\$131,564.40	\$0.25	\$109,637.00	\$0.30	\$131,564.40
19	COLD MILL AC PAVEMENT (> 1-1/2 - 3")	578642	\$0.55	SF	\$318,253.10	\$0.21	\$121,514.82	\$0.25	\$144,660.50	\$0.23	\$133,087.66	\$0.27	\$156,233.34
20	AC PAVEMENT	338	\$150.00	TON	\$50,700.00	\$172.00	\$58,136.00	\$250.00	\$84,500.00	\$130.00	\$43,940.00	\$110.00	\$37,180.00
21	AC PAVEMENT(PATCH BACK)	370	\$150.00	TON	\$55,500.00	\$220.00	\$81,400.00	\$325.00	\$120,250.00	\$210.00	\$77,700.00	\$175.00	\$64,750.00
22	AC PÁVEMENT(DIGOUTS)	92	\$170.00	TON	\$15,640.00	\$155.00	\$14,260.00	\$400.00	\$36,800.00	\$250.00	\$23,000.00	\$310.00	\$28,520.00
23	RECONSTRUCT MANHOLE	68	\$2,000.00	EA	\$136,000.00	\$2,500.00	\$170,000.00	\$2,825.00	\$192,100.00	\$2,200.00	\$149,600.00	\$1,200.00	\$81,600.00
24	DOUBLE ADJUST MANHOLE	49	\$1,500.00	EA	\$73,500.00	\$1,800.00	\$88,200.00	\$950.00	\$46,550.00	\$775.00	\$37,975.00	\$850.00	\$41,650.00
25	ASPHALT RUBBER HOT MIX	9173	\$95.00	TON	\$871,435.00	\$115.00	\$1,054,895.00	\$127.00	\$1,164,971.00	\$132.00	\$1,210,836.00	\$128.00	\$1,174,144.00
26	ASPHALT RUBBER HOT MIX (TEST STRIP)	500	\$100.00	TON	\$50,000.00	\$134.00	\$67,000.00	\$135.00	\$67,500.00	\$152.00	\$76,000.00	\$143.00	\$71,500.00
27	CCPRACP MIX DESIGN, SAMPLING, AND TESTING (STIPULATED UNIT PRICE OF \$10000)	1	\$10,000.00	LS	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00
28	CCPR AC PAVEMENT, 3" THICK	65327	\$6.00	SY	\$391,962.00	\$13.50	\$881,914.50	\$9.50	\$620,606.50	\$10.00	\$653,270.00	\$9.30	\$607,541.10
29	EMULSIFIED RECYCLING AGENT	345	\$600.00	TON	\$207,000.00	\$950.00	\$327,750.00	\$930.00	\$320,850.00	\$995.00	\$343,275.00	\$1,020.00	\$351,900.00
30	IMPORTED RECLAIMED ASPHALT PAVEMENT (RAP)	3207	\$50.00	TON	\$160,350.00	\$40.00	\$128,280.00	\$8.00	\$25,656.00	\$43.00	\$137,901.00	\$44.00	\$141,108.00
31	PCC CURB, TYPE A1-8	302	\$40.00	LF	\$12,080.00	\$37.00	\$11,174.00	\$85.00	\$25,670.00	\$51.00	\$15,402.00	\$55.80	\$16,851.60
32	PCC CURB, TYPE A1-VAR	35	\$40.00	LF	\$1,400.00	\$37.00	\$1,295.00	\$115.00	\$4,025.00	\$57.00	\$1,995.00	\$133.00	\$4,655.00

Project Name: South Whittier Sunshine Acres - Leland Avenue, et al.

Project ID: RMD4408002

Bids Opened: 4/5/2022 Office Engineer: Claudia Sifuentes 626-458-3144 Addenda: 0 Duration: 130 Day(s)

				Engineer's Estimate		(1) R. J. Noble Company		(2) Sully-Miller Contracting Company		(3) Toro Enterprises, Inc.		(4) Excel Paving Company	
(1) Preliminary Bid Amount				\$6,682,268.86		\$6,682,268.86	\$6,867,000.00		\$6,879,541.96		\$6,897,561.09		
(2) Un	it Price Detail												
<u>Item</u>	<u>Description</u>	<u>Qty</u>	Unit Price	<u>Unit</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>	<u>Unit Price</u>	<u>Amount</u>
33	PCC CURB & GUTTER, TYPE A2-8	2794	\$42.00	LF	\$117,348.00	\$45.00	\$125,730.00	\$60.00	\$167,640.00	\$44.00	\$122,936.00	\$63.40	\$177,139.60
34	PCC WALK & DRIVEWAYS, 4" THICK	17616	\$8.00	SF	\$140,928.00	\$6.75	\$118,908.00	\$8.00	\$140,928.00	\$7.00	\$123,312.00	\$9.30	\$163,828.80
35	PCC CURB RAMPS	143	\$700.00	CY	\$100,100.00	\$775.00	\$110,825.00	\$750.00	\$107,250.00	\$800.00	\$114,400.00	\$1,281.00	\$183,183.00
36	DETECTABLE WARNING SURFACE	627	\$50.00	SF	\$31,350.00	\$42.00	\$26,334.00	\$45.00	\$28,215.00	\$38.00	\$23,826.00	\$60.00	\$37,620.00
37	CROSS GUTTER	458	\$450.00	CY	\$206,100.00	\$400.00	\$183,200.00	\$405.00	\$185,490.00	\$440.00	\$201,520.00	\$563.00	\$257,854.00
38	INSTALL FIRE HYDRANT LOCATION RPM	47	\$30.00	EA	\$1,410.00	\$30.00	\$1,410.00	\$25.00	\$1,175.00	\$30.00	\$1,410.00	\$26.50	\$1,245.50
39	TRAFFIC CONTROL	1	\$127,000.00	LS	\$127,000.00	\$42,000.00	\$42,000.00	\$400,000.00	\$400,000.00	\$580,000.00	\$580,000.00	\$120,000.00	\$120,000.00
40	CHANGEABLE MESSAGE SIGN	2	\$5,500.00	EA	\$11,000.00	\$9,500.00	\$19,000.00	\$15,000.00	\$30,000.00	\$9,000.00	\$18,000.00	\$7,000.00	\$14,000.00
Unit Price Total			\$5,303,973.36		\$6,682,268.86		\$6,867,000.00	:	\$6,879,541.96		\$6,897,561.09		
(3) LSBE/DVBE/SE Preference Amount						\$0.00		\$0.00		\$0.00		\$0.00	
(4) LSBE/DVBE/SE Adjusted Amount						\$6,682,268.86		\$6,867,000.00	;	\$6,879,541.96		\$6,897,561.09	
Comments					APPARENT	LOW BIDDER							